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��ــــــــ�رإ� ���� ا������/ ا 

  5.  4.  3.  2 ا����ر ��� ا���اب
 أآ�- ا��,+�م ا�(��� ا��ال ��� ا�(��رات ا�'��] ا[   ا�$#ال ا�ول

�: 6�+� '�4�9 �5���ت ��1م ا��1��8 ا��$�81ق �16 أ�145م أآ�31 '1��2- �����1          )1(� �����
 ا>��;ال  

��A1 �16 ��ا<1+� ا�,�;�@��1 و'�,1? �16 ��ا<1+�             )2(B' 3 �16 ��1ة <�1رD2)د ا��Fو
����Gا���H.  

آ$3 ا�3وا�J ا��L�;F �6 ��H����Gت ا���1اد ا���,����1 و'K��1G روا��1��F J1ة �16        )3(
M��,� �L�;Fت ا���اد ا�K� �4'�2 ا�

�3و	�ت ا�3ا��P ا�H����G�� 	�8ه� )4(Gب إ�QF ��� رةQرة ا��R          . 
3 ���36 �6 ا�@3Vة ا�رU�� و> '�T� �F ا�����Bت �+�� )5(�W ���@� �3D2 ا	
�(Y1 ا�,  )6( M��,'           ��1$ا�آ K1� �1�R�1 وا@�� K��1G'ا��3آ1; و Z1�3��1;ات �Y1�5 91 ا�2�

M��,�                                       '�92 ا���3ار ا�
��  – ]ب[������3: آ��M ا����	�ت F+�ز 'Y�5 3�\8 ا�2��Z�3 �6 ا��(�M �9 آ ^Uو

 �(�د�� ا��8\�3 ا��3;�� ا���;	� ؟ 
�� ا�� ��� �8�8D�c إ��3 اFb - ] ا[   ا�$#ال ا�`�	�� 

���; ا�6f�;ات �eن - 1' :…… 
�3و	� <,3] أ[G�b+� ا�ب[                                  . �� [��Fا<+� آ+3و����. 
 	3PR AD ذرا'+� آ��3] د[                                     .     2�e' �+F+� آ��3] ج[

��>ت  -2�� ……'�Gن ا��+�24  (sp)ا�;وا�� ��K أور
 5 180] ب[     5 120] أ[
    5 104.5  ]د [                                 5 109 /28] ج[

��W ���Dز  -3� K��$ا��3آ; ا� Z�3� ……�M��,' �2 ا��82س �Y�5 9 ا�2�

�	� أآ$�� ا�2��3وK�F] ب[    .أآ$�� ا�2��Z�3] أ[. 

��q أآ$�� ا�2��3وF�] د[    .أآ$�� ا�2��3وز] ج[K.  

 ……ا��3آ- ا�Qى �$��Bم �6 ا���2#ات ا����4 ه�  -4 
��s ] ب[ .                       '����مآ��ر�� ا���] أ[�Gر�� ا���)آII( �H��fا�. 
 ���u أآ$�� ا�,�	�د��م] د[                        .أآ$�� ا�3Gوم] ج[

3��ن F �6;ئ ا���`�ن ��Gن �K ا��2ع  -5G�6 ذرة ا� K�4+� ……ا�
 (sp2)] ب[      (sp)] أ[
  (sp3d)] د[     (sp3)] ج[

                            ……��2 إY�5 �6�U ا�2��Z�3 ا��3آ; إ�� ا����8 '��Gن  -6
�3ات ا����8 ] أ[	)II( K�F311ات ا��11��8  ] ب[ .     وه��رو�	(III)   ��11$و��11ء وأآ

Z�3� ا�2�
�3ات ا����8 ] ج[	)III3 �$����] د[  .            و��ء (�W ��$ا�آ K� �@��. 
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��ــــــــ�رإ� ���� ا������/ ا 

�� �(�د��1   ] ب[������3: آ��M ا����	�ت F+�ز '�W 3�\8ز ا��V2در �6 ا��(�M �9 آ ^Uو
  ا��8\�3 ا��3;�� ا���;	� ؟

q��`ا[       ا�$#ال ا� [ -  �'e� ��� M��    
��Bم ���3 أآ$�� ا���'����م �F ��@2' �6 ا��xا<�ت  -1$� 
 �,\M ا���Bام ���د ا���ر�� �6 ا����2? ا��8رة -2
 '\�ف ����G ا�,3و�242�; إ�� ا�D�- �6 ا���8ل ا�آ4$��2 -3
��	��م �6 <���2 ه��آM ا��Dار�z وا�3H�Pات ا��3ع �K ا��Dت�$��Bم  -4�� ا�
����(�د>ت ا�J@6 ��H����G  –] ب[  ^Uـ :و 

     آ�MD8' A ��� ا��V2در �K آ3��� ا���G$��م ] 1[
  ا�K����8  (III)آ� A	MD8 ��� أآ$�� ���5  ]2[

��K ا��x�3 ا��8دث �6 رR: ا��eآ$� ���	� ا����8 وا�3Gوم �6 ا��,��M ا}'� ]ج [:- 
K2Cr2O7 + 6FeCl2 + 14 HCl          2KCl + 2CrCl3 + 6FeCl3 + 7H2O 

9� ـ:�� ا��@�Dد �fG ��� ��'�  -]ا [       ا�$#ال ا�3ا
�eآ$�أ��اد ا�ـ ]1[                                              ]��2@�� ]2�           ا�3ا��P ا�
]3[ M,xا����8 ا�                                               ]4[ K�e� F+� ا�

 ��R q�5 Kرن ��K ا�,3ن ا�(��� و36ن ��رآu ]ب  [
                     ) �	�P�28  -ا��Vز ا� -ا��xلا�;�B� -  ع ا�	���8 ا��2'{� ( 


�3 ا�38ارة ��� آe� ��� f'� ] ب [ e' J@6 د>ت�)���� ^Uـ :و 
 ��م ا�$��ر�II                     (2-             s( ه��روآ$�� ا����8   -1 
 ه��روآ$�� ا��82س  -4	��3ات ا��Dد��م                                     -3 

   ��Bا�$#ال ا�u     
�� �(�د�� ا��,��M ا��3;�� أذآ3 ا�: ا��xز ا��2'{  ] ا [ ���6 آK� f ا��,��fت ا�'�� �9 آ

�	;�  ا��
 ا��Dد��م �9 ا���ء -1
�3��Z ا��3آ; -2�Gا� Y�5 9� ���8ا� 
3��	�ت ا��Dد��م -3G�� K�B$'  
��(;ل �K ا�+�اء )K�B$')II اآ$�>ت ا����8  -4 

 ـ :�� دور آe� ��� f'�  -]ب[
1- Gك �6 ا�,3ن ا�(��� 86: ا�� ) J@6 د>ت�)����ا�q�B �6 ا�,3ن   -2          )

 ا�(���
أ	$4�3وم و1F �16;ئ    II (2.56(إذا آ�ن ��ل ا�3ا�F �6 �P;ئ آ��ر�� ا����8  ]ب[

ا	1$4�3وم   1.81ا	$4�3وم و	31PR AD ا���1ن ا�G��1ر ا�III( 2.41      -��1$(ا����8 
 ـ :أوج ����� 

	31PR A1D أ��1ن     -)II                         (2	31PR AD أ��1ن ا��1��8     -1
 )III(ا����8 
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��ــــــــ�رإ� ���� ا������/ ا 

��ن 	3PR AD ذرة ا�G��ر وا����8  -3 ���� M��)�2�{ �K ا�2��H{ �9 ا����ذا '$
 -�'3� ؟ا	$4�3وم  1.17 �0.99�� ا�
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